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Today: Another approach, using geometry.
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If we take a line through P = (—1,0) and another rational point
(g, r) on the unit circle, that line will have rational slope.

Conversely, take any line with rational slope m that intersects P,
L:y=m(z+1), meQ

(using point-slope formula).
Let (z,y) be the other point where the line intersects the circle.
Solve.
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Relating back to last time: rational points (z,y) on the unit
circle correspond to primitive Pythagorean triples (a, b, ¢) as follows:

Process: Example:
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» Let a = zc and b = yc »a=3and b=14
Last time: (a,b,c) = (st, 3(s*> — t2), 3(s* + t2))

Substitute m = u/v. Then let u = (s +t), v = 3(s — ).






